Final Details for Order #113-6834623-7569063

Print this page for your records.

#5 Receipt

Order Placed: May 14, 2024 Amazon.com order number: 113-6834623-7569063 Order Total: **\$1,437.82**

Shipped on May 16, 2024

Items Ordered		Price
5 of: Keep Going: The Art of Perseverance, Marshall, Joseph M.		\$8.79
Sold by: Amazon.com Services, Inc		
Supplied by: Other		
	5 books @ \$8.79 = \$43.95	

Condition: New

Shipping Address:

Kathryn Peay 480 s Ohio ave Hudson, WY 82515 United States

Shipping Speed:

FREE Prime Delivery

Shipped on May 15, 2024

Items Ordered 1 of: Madisi Colored Pencils Bulk - Pre-Sharpened - 24 Packs of 12-Cou Sold by: Madisi (seller profile) Product question? Ask Seller Supplied by: Madisi (seller profile)	int - 288 Colored Pencils for Kids	Price \$28.99
Condition: New 2 of: <i>Keep Going: The Art of Perseverance</i> , Marshall, Joseph M. Sold by: Amazon.com Services, Inc Supplied by: Other	1 pencil set @ \$28.99 2 books @ 8.79 = \$17.58	\$8.79

Condition: New

Shipping Address:

Kathryn Peay 480 s Ohio ave Hudson, WY 82515 United States

Shipping Speed:

FREE Prime Delivery

Shipped on May 22, 2024

Items Ordered

7 of: *Keep Going: The Art of Perseverance*, Marshall, Joseph M. Sold by: Amazon.com Services, Inc Supplied by: Other

Condition: New

3 of: feela 56 Pack Composition Notebooks Bulk, Kraft Cover Lined Blank College Ruled Composition Travel Journals with Rainbow Spines For Women Students Business, 60 Pages, 8.3"x 5.5", A5, 8 Colors Sold by: Feela (seller profile)

Supplied by: Feela (seller profile), Other

Condition: New

3 packs composition notebooks @ \$48.44 = \$145.32

Shipping Address:

Kathryn Peay 480 s Ohio ave Hudson, WY 82515 United States

Shipping Speed:

FREE Prime Delivery

Shipped on May 14, 2024

Items Ordered 4 of: Madisi Colored Pencils Bulk - Pre-Sharpened - 24 Packs of 12- Sold by: Madisi (seller profile) Product question? Ask Seller	Count - 288 Colored Pencils for Kids	Price \$28.99
Supplied by: Madisi (seller profile)	boxes pencils @ \$28.99 = \$115.96	
Condition: New 1 of: feela 56 Pack Composition Notebooks Bulk, Kraft Cover Lined Rainbow Spines For Women Students Business, 60 Pages, 8.3"x 5.5 Sold by: Feela (seller profile) Supplied by: Feela (seller profile) Condition: New		\$48.44

Shipping Address:

Kathryn Peay 480 s Ohio ave Hudson, WY 82515 United States

Shipping Speed:

FREE Prime Delivery

Shipped on May 15, 2024

Items Ordered 9 of: <i>The Call of the Wild</i> , Jack London	Price \$2.45
Sold by: Amazon.com Services, Inc	9 books @ \$2.45 = \$22.05
Supplied by: Other	9 DOORS @ $$2.45 = 22.05

Condition: New

1 of: Resurhang 400 Pcs Pencil Sharpeners Colorful Pocket Sharpeners for Kids Students Small Sharpener Portable Manual Mini \$18.99 Round Pencil Sharpener Classroom School Supplies Classroom Prizes Sold by: Xihuala (seller profile) Supplied by: Xihuala (seller profile)

1 box pencl sharpeners @ \$18.99 = \$18.99

Condition: New

Shipping Address:

Kathryn Peay 480 s Ohio ave Hudson, WY 82515 United States

Shipping Speed:

FREE Prime Delivery

Shipped on	June 7, 2024	
Items Ordered		Pric
22 of: <i>Keep Going: The Art of Perseverance</i> , Marshall, Joseph M.		\$8.7
		φ 0 .73
Sold by: Amazon.com Services, Inc		
Supplied by: Other 2	2 books @	
8	79 = \$193.38	
Condition: New		
Shipping Address:		
Kathryn Peay		
480 s Ohio ave		
Hudson, WY 82515		
United States		
Shipping Speed:		
FREE Prime Delivery		
Shipped on	June 7, 2024	
Items Ordered		Price
12 of Keen Coing, The Art of Development - Manufall 1		
13 01: Keep Going: The Art of Perseverance, Marshall, Joseph M.		\$8.79
		\$8.79
		\$8.79
13 of: <i>Keep Going: The Art of Perseverance</i> , Marshall, Joseph M. Sold by: Amazon.com Services, Inc Supplied by: Other Condition: New	13 books @ \$8.79 = \$114.27	\$8.79
Sold by: Amazon.com Services, Inc Supplied by: Other Condition: New	13 books @ \$8.79 = \$114.27	\$8.79
Sold by: Amazon.com Services, Inc Supplied by: Other Condition: New Shipping Address:	13 books @ \$8.79 = \$114.27	\$8.79
Sold by: Amazon.com Services, Inc Supplied by: Other Condition: New Shipping Address: Kathryn Peay	13 books @ \$8.79 = \$114.27	\$8.79
Sold by: Amazon.com Services, Inc Supplied by: Other Condition: New Shipping Address: Kathryn Peay 480 s Ohio ave	13 books @ \$8.79 = \$114.27	\$8.79
Sold by: Amazon.com Services, Inc Supplied by: Other Condition: New Shipping Address: Kathryn Peay 480 s Ohio ave Hudson, WY 82515	13 books @ \$8.79 = \$114.27	\$8.7 <u>9</u>
Sold by: Amazon.com Services, Inc Supplied by: Other Condition: New Shipping Address: Kathryn Peay 480 s Ohio ave Hudson, WY 82515 United States	13 books @ \$8.79 = \$114.27	\$8.79
Sold by: Amazon.com Services, Inc Supplied by: Other	13 books @ \$8.79 = \$114.27	\$8.7 [•]
Sold by: Amazon.com Services, Inc Supplied by: Other Condition: New Shipping Address: Kathryn Peay 480 s Ohio ave Hudson, WY 82515 United States Shipping Speed: FREE Prime Delivery	13 books @ \$8.79 = \$114.27 une 11, 2024	\$8.7
Sold by: Amazon.com Services, Inc Supplied by: Other Condition: New Shipping Address: Kathryn Peay 480 s Ohio ave Hudson, WY 82515 United States Shipping Speed: FREE Prime Delivery		\$8.79
Sold by: Amazon.com Services, Inc Supplied by: Other Condition: New Shipping Address: Kathryn Peay 480 s Ohio ave Hudson, WY 82515 United States Shipping Speed: FREE Prime Delivery Shipped on J Items Ordered		Price
Sold by: Amazon.com Services, Inc Supplied by: Other Condition: New Shipping Address: Kathryn Peay 480 s Ohio ave Hudson, WY 82515 United States Shipping Speed: FREE Prime Delivery Shipped on J		\$8.7' Pricc \$8.7

15 books @ \$8.79 = \$131.85

Condition: New

Supplied by: Other

Shipping Address: Kathryn Peay Shipping Speed:

FREE Prime Delivery

Shipped on May 15, 2024

Items Ordered	Price
8 of: Madisi Colored Pencils Bulk - Pre-Sharpened - 24 Packs of 12-Count - 288 Colored Pencils for Kids	\$28.99
Sold by: Madisi (seller profile) Product question? Ask Seller	
Supplied by: Other	

Condition: New

8 bulk pencils @ \$28.99 = \$231.99

Shipping Address:

Kathryn Peay 480 s Ohio ave Hudson, WY 82515 United States

Shipping Speed:

FREE Prime Delivery

Shipped on May 17, 2024

Items Ordered

3 of: 100 Mini Wet Hair Brush Bulk Travel Detangling Brush Soft Bristles Dry Wet Hair Brush Kids Small Hair Brush for Women \$62.99 Most Hair Types Glide Through Tangles with Ease Knots without Tears (Multicolor) Sold by: Sinsatie (seller profile) Supplied by: Sinsatie (seller profile)

Condition: New

Shipping Address:

Kathryn Peay 480 s Ohio ave Hudson, WY 82515 United States

Shipping Speed:

FREE Prime Delivery

3 bulk boxes hair brushes	s @62.99/box = \$188.97
---------------------------	-------------------------

Price

	Payment information	
Payment Method:	Item(s) Subtotal:	\$1,363.20
Visa ending in 9176	Shipping & Handling:	
Billing address	Total before tax:	\$1,363.20
Kathryn Peay	Estimated tax to be collected:	
480 s Ohio ave		
Hudson, WY 82515	Grand Total:	\$1,437.82
United States	Subtotal \$1363.20	
Credit Card transactions	Visa ending in 9176: June 11, 2024:	\$463.50
	Visa ending in 9176: May 23, 2024:	\$218.19
	Visa ending in 9176: May 17, 2024:	\$199.35
	Visa ending in 9176: May 18, 2024:	\$556.78

To view the status of your order, return to Order Summary.

Conditions of Use	Privacy	Notice ©	1996-2024,	Amazon.com,	Inc. o	or its	affiliates
-------------------	---------	----------	------------	-------------	--------	--------	------------

Back t	to top	
English	United States	Help

Conditions of Use Privacy Notice Consumer Health Data Privacy Disclosure Your Ads Privacy Choices © 1996-2024, Amazon.com, Inc. or its affiliates